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General Instructions :

(i) The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.

(i1) All questions are compulsory.

(i)  All questions of Section-A, Section-B and Section-C are to be attempted separately.

{iv)  Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

(v) Question numbers 4 and 5 in Section-A are two marks questions. These are to be
answered in about 30 words each.

(vi)  Question numbers 6 to 16 in Section-A are three marks questions. These are to be
answered in about 50 words each.

(vi)  Question numbers 17 to 21 in Section-A are five marks questions. These are to be
answered in about 70 words each.

{viii)  Section Bhas 3 OTBA questions. Question number 22 is two marks, Question
number 23 is three marks and Question number 24 is five marks question.

(ix)  Question numbers 25 to 33 in Section-C are multiple choice questions based on |
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in section C are two marks questions based on practical
skills. These are to be answered in about 30 words each.
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Define formula unit mass.
Ffed o 9] & getae faatn fafae | gad g gaisisdr soag & & 7 (3TaieH &1 WA
e 8 ®)

Write down the electron distribution of oxygen atom. How many valence electrons does it
have ? (Atomic number of oxygen is 8)

Tt et gr wEdTaa wial o i | Fiel 9 | 0 g e ?

Mention the modification made by Carl Woese in Robert Whittaker’s classification of living
organisms?

sty a0 & TRy St qen & seE fafan

Define transverse waves and write two examples.

1 5% # < e fafae-
(a) 3R T = F=1 fFH a5 o e fufe s
(b) Farfd & w0 el 55g o faemm ferfas =il

Give two examples of each of the following :
(a) a body having potential energy due to change of shape.
(b) a body having potential energy due to its position.

TR G901 7EA & HeA 41 fagad ¥ faeE | uig awn s ge el § fagam 2 v &
AT o1 IreLV] <d gu fawan | fafau |

Write two points of difference between an atom and an ion. EXplain by giving examples of
two tvpes of ions present in the compound composed of metals and non-metals.

A T ZFHM % HgY H WA F ATIHE FO1 i A1 HIU |

Compare the subatomic particles of an atom with respect to their charge and mass.

AN F waifras ATz w1 amE Eitae ) T S gud e fHuum sy sraftya @ g 9
TAFAl T AT T I Hifa |

Draw a sketch of Bohr's model of atom. State the maximum number of electrons which are
present or can be attained by the second shell of an atom.

el A B 7 S % AR IAE o0 & wifve faww 5 vEn A 27 w3l @ sre
H i Hitee |

What are phanerogams ? How are their embryo get initial growth during germination ?
Classify this group into further subgroups.
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2 HIV (c) (d)
3 & W (e) (£)
Fill in the following table :
SLNo. | Disease Point of entry Target Organ
1 Japanese Encephalitis | (a) (b)
2 HIV (c) (d)
3 Tuberculosis (£)
) Hﬁu%wwmﬂmﬁnwﬂﬁmﬁmﬁ FAFAET TEF 91 ® U & ©F SEmo 3
i
Classify the diseases in two categories on the basis of period of their occurrence and explain in
brief. Give two examples of diseases of each category.
(@) 2z & ol @1 sty drer o ST S # 7 3
(b) TeafHT @ & R a1 T e A A Ih e w s sewE F6 weeE s
27
(@ A truck has much wider tyres. Why ?
(b) A child sitting along a swimming pool feels lighter while lowering his legs in water,
Why ?
T mea 1 i w5 e, dor S e oefe ¥ e ey et wif 3

Establish a relation between wavelength, frequency and speed of sound in a medium.

viiFd &1 wfearen fafan) e s=i %1 sramfys oo 9o o] umF fargw) 400 w ok &1 3
U fagd e A e & fau w6 w8 A ¥ e fags oo @ 3R W Fiemm

Define power. State commercial unit and SI unit of electrical energy. An electric heater of 400.
W works for 2 hours. Find the electrical energy units consumed in a day ?

aﬁf&mmaﬁqﬁmﬁam; WA I B 10%kg/m3 © | Fie F1 AmfeE T 7.8 2 A A 3
F1 99 S W g ?

Define relative density. The density of water is 10%kg/m?3. Relative density of iron is 7.8. What
is the density of iron in S.1. unit ?

SIS F M F T o FF I AT FH F1 6 0 g7 A o) sfw Y wow & fh ed s 3
Sl 1 e T FE e, o T A e @ e

() & AT FA & 3T FIE FIN A1 THA] =19 FiT T8 T TR ?

(b) FHH w02 1 79 w1 B2

(c) =iet g HIF-¥ Te Ty 77y &7

Ashish had a pain in his ear as he pricked it with a Pin. The doctor advised that we should
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take care of our ears and protect them from damage.

(a)  Why we must not prick with hard and pointed things inside our ears ?
(b)  What is the function of ear drum in the ear ?

(c)  What values are depicted by the doctor ?

17 (a) Trerfafen Al & caate g3 5% gew al & v ud wheE woew g s

ferfam
) T HEEZ 4
(i)  Hfowam FEe :

(i) wEfegn AiwmEs
(a)  Write the chemical formulae of the following compounds showing the symbols of the
constituent elements and their valencies :°

(1) Ferrous sulphate. '
()  Calcium carbonate /
(i)  Sodium oxide. ~ /

18 TEFET gt F fow swEm fer W e A sfies watss i) T W amnhe s
#ﬁﬂﬂﬁqﬁwﬁmﬁaﬁﬁmm#wﬁm%mmﬁmm%aﬁﬁwa@ﬁ%
it ¥ fere Swdw for o o afaesot @ 5y v firg §2

Propose three examples of characteristics used for hierarchical classification. Based on these,
develop the definition of characteristics. Why the characteristics of body design used for
classification of plants is different from those used for classifying animals ?

19 et & wem fadeq sifdn— 5
(@) e T qen Sefas I
(by  HehTHeR T G STHHTE T
() eIV UG YW TN JETSTT AT S99
(d) wEiErEfE qu S

(e)  SFHSG T Al ISt Im Y
Differentiate between the following:
(a) Acute disease and Chronic disease

{b) Infectious disease and Non-infectious disease

(c) Symptom based treatment and Microbe based treatment
(d)  Antibiotics and Vaccines

(e) Congenital disease and Acquired disease

20 (@ 08x10° kg/m® W F FK AR Ffew F uw Fm fp i ¥ @A oww s
10X 10% kg/m?, ¥7c & 901 H T & a1 7 ¥fuw gaht i wa? s g i
(b) i foRsll ATt ofE W wW R sire # @ T # A 9w o9 o € 9atE 9§ 9w w1
TE W en R B e ¥ fE e S sem wow w9 € ok S d s =
HIfTT |
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(a) A body floats in kerosene of density 0.8 %103 kg/m? up to a certain mark. If the same
body is placed in water of density 1.0 x10® kg/m?, will it sink more or less ? Give
reason for your answer. '

(b)  If afresh egg is put into a beaker filled with water, it sinks. On dissolving a lot of salt in

the water, the egg begins to rise and then floats. Why ?

= (a) e 1 dftsfae i den g9 oI v fafan)
(b) 20kg FHHM HT UF TR T H 40 Joules AT Tl 1 THET = T A
() TF WIH 20 kg oM HT 91 IIA 4 HieX FEE 9w 10 FFUE § Hed ¥ IS T
foan T w1 9o v 9iEfeE FI9Y (g = 10 m/2)
(a} Define power. Give its unit.
(b) A moving body of mass 20 kg has 40 Joules of kinetic energy. Calculate its speed.

(c) A person carrying a load of 20 kg climbs 4 m in 10 seconds. Calulate the work done
and his power. (g = 10 m/s?)

- (W 915 ) /SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplied with this question paper.)

R W A SHRE (@) Y99/ Handling Drought in our Country

22 I faufs &1 srawenst F SRS w1 39 wead 9 w9t 3

What assistance is given to producers during disaster conditions?

23 g fFsA Y § Sa-giee wWivis § Wy 9y Ry TeR qeea s )

How does afforestation with Bio-diesel species help in the process of drought planning?

24 a9 TR I % T qEeel Wouza ¥ A % gey ¥ gven
(a) refeqae
(b) T

A drought affects all aspects of our society. Explain in relation with-
a) Economy
b} Environment

HIMT- | /Section - C

25 U @1 &1 S ¥ 3asy Fefafed st fir .
()  TF gHHRS FI e
(i) TF = A

(i) U wifer =1 g€ g = ARt

(iv) T EET & Y

(v) U IHIen aw T A=t w@e
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o9 3 Tom 9l &1 39ER s A & wEas & el B gatye S se Amied ©

(a) (i}, (11), (i),  (iv)

(b) (), () (v) (v

(@ @), (v), (v), (i)

(d) @) @) (), (vi)

A student is given the following apparatus which are available in the laboratory :
() A thermocol sheet

(ii A broad source of sound

(iiiy A polished metal sheet

(iv)  Two hollow glass pipes

(v) A pointed and intense source of sound
(vi) A detector of sound

The student verified the laws of reflection of sound correctly by using the apparatus labelled

as:

@ O @) @@ @)

(b) (i), (v),  (v), (v S

@ @ @ ) o)

(@ 6 ) (@) (v)
26 T 25 cm P T G 484 N F I H TERI SR | GH GRI T T 4 E
- (a) 2464 Pa {b) 121 Pa

(¢}  2000Pa (d) 2500 Pa

A circular pillar of radius 25 em supports a weight of 48& N. The pressure exerted on the pillar

(a} 2464 Pa (b) 121 Pa

(¢  2000Pa (dy 2500 Pa

27 e § wR W % W | siad sl
G TawF R Tg g wmn g
(i) T o gpef = 9o w9 0 ©
(i) TR = o wiEfds 9 9
(ivy Te® = v & =) B 7 giadal

(@) ()T (iii) (b) (i) T (iv)

(© (i) 9 (iv) (d) (i) T (i)

Which of the following will cause the change in speed of the pulse
(i) incfeasing distance between two ends of slinky

(i) decreasing number of truns in slinky

(i)  changing the material of the slinky

(iv)  changing the radius of each turn of slinky

(a) (i) and (iii) (b) (i) and (iv)
() (iii) and (iv) (d) (i) and (iii)
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28 fam T3 1 g | e o § O =f =7 evlar &2 1
T FaY] 9 v
(StenleScale
(a)  UEE ! HE E (b) . UETH W UF
(¢ o =t faen (d)  TIRHT i Fafa!

Observe the figure given here. Which of the following does it represent ?

megasporophyll
scales
Sterile Scales
(a)  Female cone of pinus (b) Male cone of pinus
(c) Rachis of Fern (d)  Annulus of Agaricus
29 A G st F e wen e ¥ a4 g A, 15 g B sifufarar awa € aw 28 g C smdfE 1
B E |

A + B » C 4+ D il
34g 15g  28g ?
SR T 5 gH ST 50 D R SSAE Ui ST D ESE e

(@ 49g (b) 43g (9 62g (d 21g

In the following given reaction it is found that 3.4 g of A reacts with 1.5 gof B, 28 g of C is
precipitated :

A + B -5 C + D

34g 15g 28¢g ?

Apply law of conservation of mass to calculate the mass of D. The mass of D would be :

(a) 49¢ (b) 43g (o) 62g (d) 21g

30 TN W F Trm % e ¥ o v o frer § | @ S w0 whe 59 g 1
(@) Na,SO,(s) 3% BaCl,(s) (b)  BaCly(aq) I NaSO,(s)
() NaSOy(aq) #MBaCly(aq) (d)  BaCly(s) 3 Na,S0,(aq)
Which of the following combinations of chemicals can a student select to prove the law of

Page 70of 9
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conservation of mass ?
(a) Na,S0,(s) and BaCl,(s) (b) BaCl,(aq) and Na,50,(s)
(c) Na,S50,(aq) and BaCl,(aq) (d)  BaCly(s) and Na,50,(aq)

31 W ST A, B, C 9 DA |20 & 98 & e a41 T o Fea foRar qun e Sa el 1
(A) TR SIS S e SEaE I
(B) W st et wen et oo
(© ettt o qen deddl g
(D)  Tesrere =t e et 9
a2 o faud ud dao fFE P ag e -
@ A () B @© C (@ D
Four students A, B, C and D studied the types of seed and flower of peas plant and recorded
the following observations :
(A)  Monocotyledonous seed and pentamerous flower.
(B) Monocotyledonous seed and trimenus flower.
(C)  Dicotyledonous seed and pentamerous flower.

(D)  Dicotyledonous seed and trimenus flower.
The student who has recorded correct observations is :

@ A ®) B © C @ D
32 HEEIERER L o R A 1
(a) ool (by T
(©  Fg (dy  HwEeEr
Flowers of a monocotyledonous plant are
(a) Bimerous (b)  Trimerous
(€) Tetramerous (d)  Pentamerous
33 fafimr edivior  #s @S T UM % wE A i e e e i
() ()
(i) FUE (iv)  TTH 91 & Gl
sRitumAdFR M EE T ?
@ ® G
(¢ (i) (d () R
Eggs of various species of mosquito are deposited on stagnant water places like :
(1) Ponds (ii) ditches
(iii)  pools (iv)  hotstream
Which of the above is incorrect ?
(@ O (b) (i)
(© (i) (d @)

34 FHFEIGH T & Teh § Tehis T8 9% %1 oF H A W FAMER 0 & TediH (96 FF 50 FH 2
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B € STE AW fafan qu 98 wRifia Fi)

When a body hanging with the hook of a° spring balance is immersed in a liquid, state the
factor due to which the reading of spring balance decreases. Define the factor.

T & g e T e f g9 WS % w1 A e @ Wy % Wi S 3w v 2
o sfsan FH1 sEenfae #1 st 919 98
@) 31 w9 8 5a F g R

(b) T w9 § o o o gar )
()  JUiam 5 3= g

(@) iFE aEvig @ § 3@ )

{9 S F U 3t wrv fafen

During the experiment on measurement of loss of weight of solid in tap water and salty
solution, the maximum loss in wei ght of the solid is observed, when it is :

(a) Partially immersed in water.

(b)  Partially immersed in salt solution.

(c) Completely immersed in water.

(d)  Completely immersed in salt solution.

Give reason for your answer.

U F1 57w aun 36 1 A waw fAfa 2

Draw the diagram of an earthworm and write its two adaptive features.

-oloolo-
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